Page 1-22

2009-2011 Precedent lllustrated Parts List

000439-001



CANOPY - WHITE

ITEM PART NO. DESCRIPTION QTY
1234
1 102520701 Kit-canopy, Prec-white (includes items 2 through 13) 1
2 N/A White Canopy Component Kit (includes items 3 through 6) 1
3 102400002 Cover, Lh Canopy Support, Blk 1
4 102400102 Cover, Rh Canopy Support, Blk 1
5 102513501 Asm-rear Canopy Support 2
6 N/A Asm-canopy, White (includes items 7 through 12) 1
7 102296140 Bolt, Flanged Head, M6x1.0x40 4
8 102296401 Nut-m6x1.0 Fing All Mtl Lock 4
9 102508901 Canopy-white 1
10 102511601 Handle, Canopy (White) 2
11 103205101 Cover, Drain, Canopy, Precedent 2
12 103210101 Screw, #8 X.75, Torx, Tapping 2
13 N/A Kit, Hardware, Canopy Strut (includes items 14 through 24) 1
14 102298401 Nut,m8,all Metal Lock 2
15 102299065 M8-1.25 X 65 Tx Bttn Hd Bolt 4
16 102299360 Screw, M8-1.25 X 60, Sems, Tx 2
17 102299601 Screw, Pt, K80x70 Hex Flg Hd 2
18 102512401 Support, Canopy Front, Right-Hand 1
19 102513301 Support, Canopy Front Left-Hand 1
20 102544201 Screw, M6 Hex 2
21 N/A Instr, Kit, Canopy (prec) 1
22 103196001 Washer, Conical Spring, Canopy 8
23 103199301 Bolt- M6 X 1 X 45 Hh Grey 4
24 103200301 Nut, M6 x 1.00 4

Note: Item 21 not shown.

2009-2011 Precedent Illustrated Parts List

Page 1-23


CaddyCars1
Highlight

CaddyCars1
Highlight


